Name : Class:

A6 Accounting for partnership
Chapter 14 Partnership Goodwill

5% Goodwill account B Capital account AJIR

1. Balances b/f

2. Goodwill B => BEAL » T AL => HIEIRE => Goodwill (::)
3. Balance c/f

f51-F: The capital of P, S and T are $100,000, $100,000 and $100,000 respectively. They sharing profits and losses equally.
Goodwill was valued at $300,000. It was decided that no account is to be kept for goodwill. The new profit and
loss sharing ratio for P, Sand Twould be 2 :2: 1.

Capital
P S T P S T
S S S S S S
FH% Goodwill account B Capital account AR
1. Balances b/f
2. Goodwill 5% => BE AL => HEIRE => Goodwill
3. Balance c/f
Capital
P S T P S T
S S S S S S

&% AU B BEE% Goodwill account B Capital account AR

1. Balances b/f

2. BFESE > BEAL  BAKE = HEIRE => Goodwill (::)

3. MrEBARAREER => WIHEaBAELR => EEHEaBAELR =>AfL => HEIRFE => Cash/Bank
4, Balance c/f

f5l-F: Capital of A and B are $100,000 and $100,000. They sharing profits and losses equally. C was admitted to the
partnership with capital contribution of $200,000 by cheque. Goodwill was valued at $300,000. It was decided
that no account is to be kept for goodwill. The new profit and loss sharing ratio for A, B and C would be 1:1:1.

Capital
A B C A B C
S S S S S S

&% NGB BT Bi#% Goodwill account i Capital account AR
1. Balances b/f
2. PR > BALG > FTAL => HFEIRFE => Goodwill (::)
3. BRHERE A Current account B A Capital account
=> Current & 783%8 =>i# A Capital /5 =>AfG => HFEIEE => Current account
=> Current {78828 =>8H A Capital {£77 => AL => BIEIESE => Current account
4. RHEEBAGE > BHSBANEHRESER > EHEBAEARR => AL => HERS => Cash/Bank
5. Balance c/f

{5]F: Capital of Chiu, Ho and Kan are $80,000, $60,000 and $20,000 and profit and loss sharing ratio are 4:3:1

respectively. Ho withdraw and current account of Ho is $2,350. Goodwill was valued at $16,000. The new profit
and loss sharing ratio for Chiu and Kan would be 4:1.

Capital
Chiu Ho Kan Chiu Ho Kan
S S S S S S




